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function FindAToken: Integer; int FindAToken ()
var {
State: Integer; Ch: Char; int State= 0; Char Ch;
begin do
State:= 0; switch (State)
repeat {
case State of case O0:
0: // some code
{ some code } break;
1: case 1:
{ some code } // some code
. break;
end;
until False; }
end; while (True) ;

}




function InpFindId: Integer;
var
State: Integer; Ch: Char;
begin
State:= 0;
repeat
case State of
0:
begin
Ch:= Inp.GetChar;
if Ch.IsLetter then State:=1
else Exit(-1);
end;
1:
begin
Ch:= Inp.GetChar;

if Ch.IsLetterOrDigit then State:= 1

else begin
Inp.RetAction;
Exit (0)

end;

end;
end;
until False;
end;
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on InpFindOp: Integer;

State: Integer; Ch: Char;

repeat
case State of
0:
begin
Ch:= Inp.GetChar;
if Ch= '<' then State:=1

else if Ch= '=' then State:=

else if Ch= '>' then State:
else Exit(-1);
end;
1:
begin
Ch:= Inp.GetChar;
if Ch= '=' then State:= 2
else if Ch= '>' then State:
else begin
Inp.RetAction;
Exit (10)
end;
end;
Exit(11) ;
3: Exit(12);
Exit (13);
5:
begin
Ch:= Inp.GetChar;
if Ch= '=' then State:= 6
else begin
Inp.RetAction;
Exit(14)
end;
end;
6: Exit(15);
end;
until False;
end;
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procedure MatchX;
begin
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else
Syntax-Error;
end;
end;
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else
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begin
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end;
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{null} end;
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Action
* (

S4

E+T
T
T*F
F
(E)
id

-
)

N

vlo[N|la|un|p|lw|Nv|k|e

R1 e id + id * id

= « (did + ()

Stack Inp Action Stack Inp
0 id+id*id$ S5 0 (id+Q$% S4
0id5 +id*id$ F —» id 0(4 id+()$ S5
OF3 +id*id$ T > F 0(4id5 +0)$| F - id
oT2 +id*id$ E> T 0(4F3 +0)$] T > F
OE1 +id*id$ S6 0(4T2 +()$ E>T
OE1+6 id*id$ S5 0(4E8 +()$ S6
OE1+61d5 *1d$ F > id 0(4E8+6 (@F S4
OE1+6F3 *id$ T > F 0(4E8+6(4 )$ Error
QE1+6T9 *id$ S7 Error : 'id' , '(' Expected
OE1+6T9*7 id$ S5
OE1+6T9*71id5 $
OE1+6T9*7F10

$ RMD: E = E+4T = E+T*F = E+T*id = E+F*id =
QE1+6T9 $ E+id*id = T+id*id = F+id*id = id+id*id
QE1 $
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S4

R3
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R2

R1

R5

R3
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Inp Action

0 dbdb$ | X —> €

0X2 dbdb$% S4

0x2d4 bdb$ S7

0X2d4b7 db$ [ ¥ > €

0X2d4b7Y8 db$ | X —> €

0X2d4b7Y8X2 db$ S4

0X2d4b7Y8X2d4 b$ S7

0X2d4b7Y8X2d4b7 $

0X2d4b7Y8X2d4b7Y8 $

Error : 'a' , 'd' Expected

RMD: S = XdY = XdbYS = Xdb¥YXdY =
XdbYXdbYS = XdbYXdbYXdY = XdbYXdbYXd =
XdbYXdbYaXd = XdbYXdbYad = XdbYXdbad =
XdbYdbad = Xdbdbad = aXdbdbad — adbdbad

adbdbad
dbdb

Inp

Action

4

adbdbad$
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0a3

dbdbad$

X =

E

0a3X5

dbdbad$

X — aX

0X2
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0X2d4
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E
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ad$

S3

0X2d4b7Y8X2d4b7Y8a3

%

E

0X2d4b7Y8X2d4b7Y8a3X5

0X2d4b7Y8X2d4b7Y8X2

S4

0X2d4b7Y8X2d4b7Y8X2d4

0X2d4b7Y8X2d4b7Y8X2d4Y6

0X2d4b7Y8X2d4b7Y8S9

0X2d4b7Y8X2d4Y6

0X2d4b7Y8S9

0X2d4Y6

0S1
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